

الف) $y = \frac{\sin x - \mu}{\mu \cos x + 1}$ $\mu \cos x \neq 1$ $\cos x \neq \frac{1}{\mu}$ $x \neq \pm \frac{\mu x}{\mu}$ 1

$Df = \mathbb{R} - \left\{ \mu x \pm \frac{\mu x}{\mu} \right\}$

ب) $y = \frac{\sin x + \mu}{\cos x - 1}$ $\cos x \neq 1$ $x \neq \mu x$ $Df = \mathbb{R} - \{ \mu x \}$

الف) $y = \frac{\mu \sin x + 1}{\tan x + 1}$ $\tan x + 1 \neq 0$ $\tan x \neq -1$ $x \neq -\frac{\pi}{4}$ 2

$Df = \mathbb{R} - \left\{ \mu x + \frac{\pi}{\mu}, -\frac{\pi}{\mu} + \mu x \right\}$

ب) $y = \frac{\cos x + 1}{\cot x - 1}$ $\cot x \neq 1$ $x \neq \frac{\pi}{4}$ $Df = \mathbb{R} - \left\{ \mu x + \frac{\pi}{\mu}, -\frac{\pi}{\mu} + \mu x \right\}$

الف) $\sin y = x^{\mu} - \mu$ $-1 \leq x^{\mu} - \mu \leq 1$ $-1 \leq x^{\mu} \leq \mu + 1$ $\rightarrow 1 \leq x^{\mu} \leq \mu + 1$ 3

$Df = [1, \mu + 1]$

ب) $y = \arccos(\sqrt{x} - \mu)$ $-1 \leq \sqrt{x} - \mu \leq 1$ $-1 \leq \sqrt{x} \leq \mu + 1$ $\rightarrow 0 \leq x \leq (\mu + 1)^2$

الف) $\cos y = |x| - \mu$ $-1 \leq |x| - \mu \leq 1$ $-1 \leq |x| \leq \mu + 1$ $\rightarrow 0 \leq |x| \leq \mu + 1$

$Df = [-\mu - 1, \mu + 1]$

$Df = [-\mu - 1, \mu + 1]$

ب) $y = \arcsin(x^{\mu} + \mu x + 1)$ $-1 \leq x^{\mu} + \mu x + 1 \leq 1$ $-2 \leq x^{\mu} + \mu x \leq 0$

$-2 \leq (x+1)(x+\mu) \leq 0$ $x^{\mu} + \mu x + 1 \leq 1$ $x^{\mu} \leq 0$ $x \leq 0$ $x(x+\mu) \leq 0$

$y = \log_{\mu} x^{\mu} - \mu$ $x^{\mu} \in \mathbb{R}$ $x^{\mu} > \mu$ $x > \mu$ 5

$Df = (\mu, \infty)$

$\mu - |x| > 0$ $|x| < \mu$

$y = \log_{\mu} \mu - |x|$

$\mu > x > -\mu$ $Df = (\mu, -\mu)$

$$0 - x > 0 \rightarrow 0 > x$$

فرض کنیم

Subject

$$x - \mu > 0 \rightarrow x > \mu$$

Date : Year

$$x - \mu \neq 1 \rightarrow x \neq \epsilon$$

$$y = \log \frac{0-x}{x-\mu}$$

$$\mu \cos x + 1 \neq 0 \quad \cos x \neq -\frac{1}{\mu} \quad x \neq \frac{\pi}{2} + k\pi$$

6

$$Df = \mathbb{R} - \{x\} \cup (\mu, 0) \quad b \quad Df = (\mu, 0) - \{\epsilon\}$$

$$y = \log \frac{x^{\mu}-1}{x+\mu}$$

$$x^{\mu}-1 > 0 \quad x^{\mu} > 1 \quad x > 1 \quad Df = (\infty, 1]$$

$$x+\mu > 0 \rightarrow x > -\mu \quad x+\mu \neq 1 \quad x \neq -\mu$$

$$y = \log \frac{x^{\mu} - \epsilon x + \mu}{x - \mu} \quad \frac{(x-1)(x-\mu)}{\mu} \quad (\mu, 1) \cup (\mu, +\infty)$$

فرض کنیم

$$y = \log \frac{x+\mu}{x-\mu} \quad x+\mu > 0 \quad x > -\mu \quad x+\mu \neq 0 \quad x \neq -\mu$$

$$x + 0 \neq 1 \rightarrow x \neq -\epsilon \quad Df = (+\infty, 0)$$

$$y = \sqrt{\mu - \log_{\mu} (x-\mu)} \quad x-\mu > 0 \rightarrow x > \mu \quad (-\mu, +\mu) \cup (-\infty, -\mu)$$

$$\mu - \log (x-\mu) > 0 \quad \log x - \mu \quad x-\mu > 1 \quad x > 1$$

$$y = \log (\mu \log \frac{x}{\mu}) \quad Df = (\sqrt{\mu}, +\infty)$$

$$\mu \log x - 1 > 0 \quad \log x > \frac{1}{\mu} \quad x > \mu^{\frac{1}{\mu}} \rightarrow x > \sqrt{\mu}$$

$$y = \frac{\mu}{\mu x + 1} \quad \epsilon x + 1 \neq 0$$

$$\epsilon x \neq -1 \quad Df = \mathbb{R}$$

$$y = \frac{\mu}{\epsilon x - \mu} \quad \epsilon x - \mu \neq 0$$

$$\epsilon x \neq \mu \quad Df = \mathbb{R} - \left\{ \frac{1}{\mu} \right\}$$

$$y = \frac{\mu}{\epsilon x - \mu} \quad \epsilon x \neq \mu \rightarrow x \neq \frac{\mu}{\epsilon}$$

$$y = \frac{\mu}{\mu x - 1} \quad \mu x - 1 \neq 0 \quad \mu x \neq 1$$

$$Df = \mathbb{R} - \{0\}$$

$$Df = \mathbb{R} - \left\{ \log \frac{\mu}{\epsilon} \right\}$$

پارسیان

Subject

Date : Year

Month

Day

عبدالله بن عبدالمطلب

$$y = (kx + 1)!$$

$$y = \left(\frac{p x - r}{r x - q} \right)!$$

$$\begin{aligned} & \exists x+1 \in w \\ & \exists x \in \frac{w-1}{\varepsilon} \rightarrow Df = \{x/x = \end{aligned}$$

$$\frac{p x - r}{r x - q} \in w \rightarrow p x - r = p w x - q$$

$$\frac{k-1}{\varepsilon} \quad g k \in w \}$$

$$p x - r w x = r - q w \rightarrow \frac{r - q w}{p - p w}$$

$$Df = \{x/x \quad \frac{-qk - r}{p x - p} \quad g k \in w \}$$